Practice Midterm Exaé ' Name: K ty
Algebra 1 CP

1. Write an algebraic expres:mon for 7 less than the square of a number,
A 7<x? B. 7>x% C. 7-x* x2—7

2. Evaluate: 6a? +b(c-3a) if a=3, b=5, c=16 ((3)" + S(1-33)) = 59+ 5(7)
SY +35

13

A 116 @89 ‘ C. 125 D. 71

3. Whatis the simpiest form of: -4[51+2f3<z:>5)] 2 4y fS"{  btwo] syt H0J = V¥ tyo

A. 4(11£+10) B. 26r+10 ‘@44”40 D. 841

4, Distance traveled {d) equals the rate [r) times the time (). If Jenny drove at a rate of 57 mph for two and a
half hours, how far did she fravel? d - 5—-7 2.5 = 142.5
A. 28.5 miles B. 114 miles C. 157 miies 142.5 miles

5. What fractions are written in order from leasi to greatest?

_y i» i B £7 - i C 23 i: . D T is i
13° 11" 14 11° 137 14 14’11 13 13° 14° 11
6. Simplify: —X+12 = =%x 2 _ J':x -2
A 3x+2 B. —3x-2 C. ->x+2 @Ex—2
7. Filin the blank: g >

A = > C. <

8. Solve: m—{-4)=7 m+4 =7
m=23
@3 B. -3 C. 11 D. -11
9. Solve: 7-x=2 -X = =Y x =5
-7 7 ==
A9 B. -9 CY5 D. -5

X+y =-96
10. The sum of two integers is -46. The greater integer is 13. What is the lesserinfegerg X + 13 = —-9%¢

A. 59 -59 C. -33 D. 33 x = -39

n Solve:g- 2 c18 b m = —|0§
B
A J-108 B. 108 C. 3 D. -3




12. Solve: —___2_6_,1; = §§1~

—~2¢ ~26
A. 910 B. 858 C. 34 (D)-34
13. Solve: 2~ zx =155 %X =25
35 1 3
A. 45 B. 5 ©2s D. 75
14. Solve: 5 + 3 = 23 Sx =20
xzy
A4 B. -4 C.5 D. -5
- qd
15. Solve: gy B "n)‘ = 9_‘_ X = (A
1 6
A. 91 B. 6 2= D. -~
@ 6 13
16. Solve: % _a+t4 8’(&-1) = 6(a+y) 24-8: 2y
. @1 a-8 = ba+2y 20 = 32
A) 16 B. 12 C. 24 azlt p 3
17. Solve: L n .6 n=18
A. -30 B. 30 C.-18 ®. 18
18. Solve:  —14 = € +612 4 : chiz
- 1z e
A. -72 (B) 72 C. 96 D. -96
19. Solve: 2x + 7 = 5x + 16 T = 23x +ib
=9 =3
2 - 23
- B. = -2 = c. - D. 3
3 : 3% ;
20. Solvefory: 2x — y = 3 —'4 T -2X +7
-4 ¥ "'3
B y=2x-3 B. y=-2x-3 C.y=-2x+3 D. y=2x+3

21. By federal law, the ratio of the width to the length of the US. flag is 10 to 19. If you want to make a flag

with an 8-foot width, what shouid be its length? 10w _ L
A. 2375t (8) 152t c.laz p. 152t V1# %
10w = 52
' X, . | - '
22. What is 14% of 322 3z ° loD Do: g :;‘g X =I5 2

A. 4480 4.48 C. 228 D. 43.75




e, . X Wox = 9,000
23. Ninety is what percent of 2002 zp 100 x: oy

A. 55% B. 40.5% (©) 45% D. 20%
' Y =ax Y 2335 %
24. Ify varies directly asx, andy=7.5 when x=2 findywhenx=5 7.5z a.2 14 * 3.75.8

B 1875 B. 1.33 c. 3 D. 75 P = 1873
25. Write the equation in slope-intercept form: 2x-3y =46 -3 5 z =2x +b
Z
Y= Fx -2
2 2 2 . . .
A y= —Ex -2 y= 3 x—2 C. y= gx +2 D. It's already in siope-intercept form
24. Identify the slope of the line with the equation: y-3x=5 ‘4 = 3%+
1
A.3 ®)3 c 3 D.5
m: 2. 1.4
27. Write the eguation for the line that passes through (3, 2) and {4, 9}. ¥-3 ~ !
Y «2 =7 {x-3) y-2=7x -2l
: 1 11
A y=7x+2 B. y=7x~11 C.y=—x+— D)y =7x-19 = Tx-19
y y yEE+ ®)y 9

27. Write the equation in standard form: y=—%x+1 (—;- b4 +g = ) ) 2 X *23 > 2

1 1
A. x+5y=1 B. Ex+y=1 @x+2y=2 D. it's already in standard form
28. Write an equation for the lIine that passes through (4, -5) and is perpendicular to the line y = 2x + 3
. m - --L
A y——1x+7 B y—wl—x+3 C. y=2x-3 @y—mlx—?» ‘
' 2 A ' 27 Ty s p(x-y)
29. Solve: v — 8 < 35 V<443 AR S
+8 +3 Y
B v<4 B. v>27 C. v<27 D. v>4 3"zx-3
30. Solve:  w + 381 < —146 w4 -§.9]
3.3 - 38
A w<1079 B. w >-18.41 C. w>10.79 @ w <-18.41
| L33 mr>l
31. Solve: m-—%>% m7=—+8 3
H
+3 43 m?y g+
®m>l B. m< L C.m<~ D. m> =
8 . 8 8
32. Solve: 6n =2 5n + 19 hzi?
A n >-19 ® » =19 C.n<19 D. n< 1




S._]z < 10

33. Solve:  3s — 12 < 25 + 10 s¢22

A 5>2 B. s>-2 @s<22 D. s<-22

-zt sam as t < -6

34. Solve: ~18 2 ¥
At £ 6 B. r = -6 @ts—fs D.¢t 2 6
-l
35. Solve: _7_’. R I A '_5: 2 A same as d7-%
1 lf 7 ) Y 4
5 5 5 5
Ad <2 B d > = C.d <= ®d>—z
36. Solve: -3.5z < 42 AR et
-3y - 3.5
Az > 12 B.z < 12 C.z < -12 @ :> 12
37. Sol w6 w20 e 7AW 1y 2w 7
. Solve: w6 > 6w - +2 +z20 same as w¢é
“Yy Yy 0 T7w 5
®w<7 B. w < 2 C. w < -7 D. w < 2
=[5 < > 9
38. Solve: -14 > 5 (Zm - 3) - m -l"[ 7 1Dm I5 -m ! m

-14 ¥y 9m - 1§ _{‘.'.7m Same 4g

A.m < 1 m<$ C.m > 1 D.m>%

Sr-5p-4 2 -3 3r2-27
3r -4 z -3\ rz-9

A.r < 9 r2—9 C.r 209 D. r < 9

39. Solve: 8 - (Sr + 4) = -3

40. The graph shows the solution set for which of the following inequalities?

. @ | |
5 -4 -3 -2 -1 0 1 2 3 4

5
A x<3 B. x<-3 @x2—3 D. x>-3

41, Solve: -25<15x-10<20
*\ D - +ip HD

4 5 '
A -1 <x<— B.x<2 C. ——§<x<2 -l<x<?2

m¢e

L
q



42. Which of the fou%winrg is ’rpe grloph of the solluﬁon setof: y<—-3 or y>1¢ ' |

AT A |
5 4 -3 -2 -1 01 2 3 4 5
B, < itmi———) |||
5 -4 -3 -2 -1 01 2 3 4 5
c. Dttt | |||
5 -4 -3 2 -1 0 1 2 3 4 5
D, (Db}

S5 -4 -3 -2 -1 01 2 3 4 5

43. What compound inequality is graphed below?

b (Domnl—)
5 4 -3 2 -1 01 2 3 45
A —l<n<? B. ~1<n<2 C. nz-1 or n<2 (D) -l<n<2
44. Which of the following is the graph of the solution set of: - 54 <3 +5=<20
- -5 ¥
e Dt ————(———— .
-5—4-3 2 -1 01 2 3 45 ~3<3t<¢1i3
3 3 3
B it | | | |+ | | _
5 -4 -3 2 -1 0 1 2 3 4 5 -3¢t &5
C. il il
5 -4 -3 -2 -1 0 1 2 3 4 5
D, )t || | | ey
5 -4 -3 -2 -1 0 1 2 3 4 5
=4y ovr %x-8=-YY
- 45, Solve: 3x—8/=132 IX—-SI = 44 % -8 _
‘LT| 3 X =52 K= -3¢
A. 44,-44 B. -52,52 C. 52 (®>-36.52
46. Solve: [2x+8|<4 less +“€’_‘fl_! ~Y4 <& 2% +§ <Y -2 ¢2x<¢-N
ot 4 -3 -¥ o & -2
(&) -6 <x<-2 B. X <-2 C. 2<x<2 D. Xx<-60rX>-2
47. Solve: [2x—7|>1 gm*'g,r'. 2x-171 ovr 2x-1<-|
ix 78 2)::3"
A 3<x<4 B. x>4 x-r'l©x<30rx>4 D.x<-4orx>4

48, The graph of which inequdlity is shown?
X - i | Jo live
i - Kyl @YSX 1 SMW\, 1§ blr w amA

1 o B. y>-x~1 is solid, so i+ must be
1

iR | e »

X




49. Which ordered pair is a solution of the system; 4 (x +2y= 8)

-4x+y=5
A. (2.-3) (®)2.-3) C.{-3,-2)
50. Find the value of xin the system:1 (_x -2y =4) Ix - 43 =8
3x+4y=2 IxtHy =2
5% b
A.-2 ®» C.-1

Hx +8y=-32 % 4+2(3):-%
“Hx +y -5 K+ -b z-§
ay = -27 o
4z -3 X =2
D. {-1.0)
x 22
D.3

51. You pay $24.50 for 10 gallons of gasoline and 1 quart of oil at a gas station. Your friend pays $22 for 8
gallons of the same gascline and 2 quarts of the same oil. Find the cost of a gallon of gas.

A. $5.92

$2.25 C. $3.88

D. The cost cannot be determined

Let x = tost of gas

52. Which systerm of inequalities is represented by the graph?

4 = wst of oil

. o | Ax<lx>d ~2(Ipx + y = 24:50)
g S B. y>Ly<4 8x +2y =22

. ol

0 ol C. xz21,x<4

E ¥ r% 0)x>1.x<4 _ ¥ x +2y = 22
Shading e right of | ~12y = =27

and o e left of 4 and both ave dotid

x 22,25




